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(a) Pcbrine is causcd by Noq’o’m )‘f
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(b)) The milk of »’R.osizé’:l, _-:.the firat b

transgenic cow, contains human
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(c) Ovulation is induced by a hormone
called W ond o
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(d) The total number of chromosomes

in a human cell is —Z-%.— .
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A9. Answer any two . 1x2=2
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(a) What is frameshift mutation ?

R Rprfe sl Sesifae
(b) Define algal bloom.
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(c) Write the scientific name of African

cat fish. - | |

S o e am o
(d) //At which part of a;_i)ond ecosystem

decomposers are abundant ? ‘
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20. Write answers of any: four of the |

following: | 2 - 2x4=8
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(1) What are the changes that occur
during follicular phase of |

menstrual cycle is human females ? |
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(b)/Why has amniocentesis becen
" banned?

RETHTHHY afs R Ffs w41 (2R ?

\(y/ Write a note on Haemophilia.
7 [Zrfeferam «@fp (et forit |

V.

(g&/{‘)iscu'ss the structure of nucleosome.
FSfeessT stom SITEDa Pt |

(¢) What are the different types of
barriers in innate Immunity ?
ST ST AT SPRETOR etfoamnyg
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~«f) What is'the causative Organism of

| \,,('_ 7 Flacherie ? Write the Symptoms of

the disease.
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21. Write the differen'ice between any two :
2x2=4

59) T-lymphocyte ;nd B-lymphocyte. |
T-Rrrsi2D e B-Rresizs,

(b) Sex chromosome and autosome.
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(c) Hydrarch and Xerarch.
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(d) ~Spermatogenesis and Oogenesis.
N\
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22, What do you understand by STD ? Name
—1%0 STD in man. Mention two preventive
measures of STD. 1+1+1=3

OR / ooy

Draw and label the internal structure
of the seminiferous tubules. 3
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23. Write the goals of Human Genome
Project. 3
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Write the Mendel’s laws of Inheritance. :
3
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24. Discuss the causes of cancer. 3
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Write a note on Biosphere Reserves of |
Assam. - 3

‘/wma TEseE AR w «qio (Ol forall | 1

s
¥

25. What is the infective stage of malarial
D parasite ? Describe the life cycle of
malarial parasite in brief. 1+4=5
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